A E# (mm)
1.6
A=y AOF=T 3.2
4.8
IEH {1 WEE
1. & - hL-
2. BE glem?® 0.24
3. BISRYRE kPa 420
4. BUE % 114
5. 90 FE | k555 5 N/cm 5
6. K3 Volume % 4
7. EMERAEZEAR loss % 2
8. [EfEh A - 30%EHE 71, 21
(B, 1 21&) 50% E & 147, 43
B e ar o a s [958 249
10. HEEFERRE#HE 25 ~ 70°C
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o E# (mm)
1.6
Ap= APF—7F i
4.8
1HH B ME(E
1. & - 7399
2. BE kg/m?® 191
3. 5IsRYRE kPa 402
4. UE % 164
5. 90 FEEF Bt kLS S N/cm 6.6
6. k3 Volume % 5
7. EfaRAEHE loss % 5
8. EHEIL A s 30%E#E 49 27
(ER, 1 7% 50% 4 105, 44
9. Mt7KIE (18 10mm,R60mm U = F8EH : 1'531R) .
(k. RKECORR (Bk 24 B5pn)] | SO EHE 24 B
10. #EFERRESH 25 ~ 70°C




